(F=EFE>E)

—. Flif=R

1 IRZHRENZEX VI HREN Ax y), WEENEE (VX5 HREN Ay, X) . ( )
2.5 F(x, y) N_HEENRE (X, Y) WO MR, y AME—BHNW—EF F (-0, y) =0 . ( )
3. “HMNEE (&9 NEREMITLHENNAZIHE—HE . ( )

4. EBENEZE X,y BEMI, f,(x), f,(y) 88 X,y WBEERE, f(x, y) A(X,Y )NEKEEE N—E

fFlx,y)=f, () Ff(y) . ( )
5.3%(X,Y)~N0,4,1,9,0), W X5 vz . ( )
=, &R
3 1

1.EM X,y IDHEAP(X =) =P (X =0} =— P{Y—1}—Z ,P{Y =0} = L , B P{XY—1}— my
P(X =Yy BMER ( ) .

A. 1 B. 1 C. 2 D. 1

4 2 4

2. BEBNEE (X,Y) NOWEREA F(xy) , HBZDWAF (0 MF (), WEER P(Xx >1,Y>1) =

( ) .

A.1-F(1,1) B.1-F,M-F01 C.FOND-F,M-F,0O+1 D. FOOLO+F, M+F, (1) -1
3. IRTHRNZEX NIREERN Ax, )), Wrx>1= ( ).

EOOE: f(x, y) dydx B. L+m j: f(x, y)dydx C. Jjoo f(x, y)dx D. foof(x, ) dx

4. ZHENZSE X,y fBEIRILE X ~ N(O,21) LY ~ N(1,1) WA ( ) .

1 1
A. PX+Y<0}=— B. PX+Y<1=—
2 2

1 1
C. P(X-Y<0}=— D. P{X-Y<1=—
2 2



5. ST EE x 5y HEMST S, B PIX =—1 = Py =1 =%, ma ( ) .

A P{X=Y}=% B. P{X =VY}=1 C. P{X+Y=O}=% D. P{XY=1}=1Z
6. THIEE D, SJLUBAEN “ 4 EEBEN T SN ZE REIZE ( ) .
e x>0,y>0 l, 0Sx<2,-1< y<1
A f(X’y)z H B. f(X,y): 3
~1 Rt 0 ELfth
1
6x, 0<x<y<1 -
c f(x,y)={x Xgﬂg D. flxy) =17 0<x<10< y<1
0 = 0 Hity
7IRMENETE x 5y HEMY BERAXE (0, 1) L9 9/H, Wpeix*+y> <13 = ( ) .
AL B. L c. 2 p. £
4 2 8 4
=. =&

1.8 XY BRI ENEZE, B AX=0,Y20}=3/7, AX=0=KY=0}=4/7,1 A0,0=__
2 IR ERNMEE (X, V) NEXED miEN

0 1/3 b
1 a 176
EMENES (X =0y 5(Xx +y =13, M a= , b=
- ~ . " Ae—(2x+3y)’ X>O,y>0, 5
3.1 (X,Y) HEASHERZEREN f(xy) = . i , MZE A=

4 IZBENEE x 5y BB, B X ~ U (0,1), Y ~ U(0,2) W p(x <Y}=

5.1%MEHEE x 5y HERIES M, BEHBM o =§ B90-19%, NEENZEE 7 =mad{ X, v} H2HE

7

6. BRI ERBNEE (XY) £ D LRSS, Ho DA XM, YHRELZ y=x+1 FrERXE,

1
W f (=)=
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7.1 X ~U(05),Y ~ N(0,1) BXYiEEMMY, N (XY) HERKSZEERHH

8. “HMEHTE (X,Y) RMNEESSH N(1,0,1,1,0) , T x ~

M.
1.EXBENEE X Y S HEDHIHN

x|—1 0 1 y | o 1
p,|1/4 172 1/4 p; |1/2 172

B P(xy =0)=1. 3k

(1) BENZE x Y HNEXED]E;
(2) ¥lBr x vy REHEEMI;

(3) P{X =0|X +Y =1},

Ax,0< x<1,0< y< x

2BHEHTE (X,Y) WBABEREN f(x, y) ={ i

XK (1) BHEA;
(2) X,y BSOS ZEREFFLE X, Y BIHL?
3% (X,Y) B ED R

X
F(x,y) = A(B + arctan —)(C + arctan Z), —00< X, y<+0,
3 4

K: (1) REH A B,C; (2) (X,7) NEASEERE; (3) K Py <4} FIP{Xx <3,y <4}.
LT HHENZE (X,Y) HEBE S RBEER

) {4xy, 0<x<1,0<2 y<1,
X, y) =
HAth,

B (1) £ OF 1 (), FEE Xy BEMT.  (2) Fe,z)m.
5 AT EBNEE (X, V) 7 Kif D LRMISAT D DR X Y MRES y-x1 FERNKE,

1 1
HXK 1.(X,Y) NEXEEERE; 2. P(—Z<x <0,0<Y <Z) 3XRTF X RKTF Y HLERE



